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! I Find the angle between the two planes

Poix+2y+3z2=1,PFP:-2c+3y—z2=3.
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E & In the following diagram, a circular disk of radius 1 in the plane zy rolls without slipping along the z-axis and
X

the curve is the locus of a fixed point on the circumference which is called a cycloid.

N

(a) Give a parametrization of the cycloid.

(b) Find the arc length of the cycloid corresponding to a complete rotation of the disk.

https://www.desmos.com/calculator/3gsidj1kg5
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In the following diagram, a circular disk of radius 1 in the plane zy rolls without slipping along the z-axis and
the curve is the locus of a fixed point on the circumference which is called a cycloid.

(a) Give a parametrization of the cycloid.

(b) Find the arc length of the cycloid corresponding to a complete rotation of the disk.
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E 3 (Arclength in polar coordinates) Let r = r(#) be a curve in R? in polar coordinates. Show
that the arclenth of the curve from 6; to 6 is given by
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Eﬁ [l Find the arclength of the curve: r(f) = a(l — cosf) where a > 0 is a constant and
0<6<2r.
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